Counting the Possible Solutions Math 202
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(a) How many solutions are there to the equation Ax = 0%( ota
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(b) Let b= [1 How many solutions are there to the equation Ax = b?
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(c) Let ¢ = |0|. How many solutions are there to the equation Ax = c?
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(d) How many solutions are possible to AX = d, when considering all vectors deR3?
You must justify your answer.
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Counting the Possible Solutions Math 202

Name: Section:

1 =2
2. Let A = [_3 6]

(a) How many solutions are there to the equation AX = 0?
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(b) Let b= {ﬂ . How many solutions are there to the equation Ax = b?
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(c) Let ¢ = J How many solutions are there to the equation Ax = ¢?
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(d) How many solutions are possible to AX = d, when considering all vectors deR??
You must justify your answer.
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Counting the Possible Solutions Math 202
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3. Let A= [1 3 3]
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(a) How many solutions are there to the equation Ax = 6‘7
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(b) Let b= E] . How many solutions are there to the equation Ax = b?
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(c) Let c = [Q:I . How many solutions are there to the equation Ax = ¢?
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(d) How many solutions are possible to AX = d, when considering all vectors deR??
You must justify your answer.
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